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VCE Further Math Exam 2 2003 Solutions

Core

Q1a  Mean 
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Q1b  For the sample of 12 workers, 9 workers are above the mean, percentage 
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Q1ci  Cost 
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Q1cii  
[image: image5.wmf]8049

.

0

=

r


Q1d  linear 
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Q1f  cost of calls

Q1gi  by 19 cents per call

Q1gii  65%

Q1h  Predicted value 
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Residual value 
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Q2a  
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Q2b  Yes, smoothed time series has a positive gradient (very gentle).

Q2c  There are twelve pairs of data values and they divide neatly into three groups of four.

Module 1:  Number patterns and applications
Q1a  10000 + 800 = 10800 litres

Q1b  10000 + 800 
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Q1c  
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Q1d  Number of minutes 
[image: image13.wmf]25

800

20000

=

=


Q2a  At the end of the first week, volume of water in the tank 
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Q2b  At the end of the fourth week, volume of water in the tank 
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Q2c  
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 (graphics calc.). End of 22nd  week.

Q3a  Usage increases by 10% means the usage is 110% of previous week’s . 
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Q3b  Geometric series, 
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Q3c  
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7881 litres in the third week.

Q3d  

	Week
	O’Callaghans
	Gerbers

	1
	6000
	8000

	2
	6600
	7940

	3
	7260
	7881

	4
	7980
	7823


                                                                  Week 4.

Module 2:  Geometry and trigonometry
Q1a  
[image: image27.wmf]50

.

8

21

.

8

20

.

2

2

2

=

+

=

BC

 metres

Q1b  
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Q2a  There are eight equal sides of a regular octagon and each side subtends the same angle at the centre.
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Q2b  Area of 
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Area of the octagonal paved area 
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Q2c  
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Q2dii  
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Q2e  Use the sine rule, 
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Q3a  
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Q3b  The first pile has the length measures half of the corresponding length measures of the second pile,
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Module 3:  Graphs and relations
Q1a  Distance 
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Q1b and c
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Q1d  4 hours (Read from graph).

Q1e  
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Q2b  k = gradient of V-t2 graph 
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Q2c  
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Q2di  When 
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Q2dii  At 
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Module 4:  Business-related mathematics

Q1a  Discount 
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Q1bi  Total cost 
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Q1bii  Interest 
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Flat rate of interest 
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Q1ci  
[image: image68.wmf]24

=

n

, 
[image: image69.wmf]3100

=

P

, 
[image: image70.wmf]0

=

A

.

Q1cii  
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Q1ciii  Total cost 
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Q1d  Discount King’s terms offer the lowest total cost. The difference 
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Q2a  Depreciated value 
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Q2b  Depreciated value 
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Q2c  
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Module 5:  Networks and decision mathematics

Q1a  cut A = 14,  cut B = 23,  cut C = 12.

Q1b  Cut E does not cut off the path from Arlie to Bowen.

Q1c  Capacity of cut C is the minimum, 12.

Q2a
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Q2b
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Q2ci  duration 
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=

 hours.

Q2cii  It indicates the completion time for the entire project.

Q2d  
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Max time for B = 7 hours.

Q3a  EST = 3 + 2 + 1 = 6 hours.

Q3b  Critical path = A-C-J-L
Q3c  LST = 
[image: image86.wmf](

)

8

2

3

2

2

3

=

-

+

+

+

 hours.

_1130216677.unknown

_1130226370.unknown

_1130227495.unknown

_1130228762.unknown

_1130229493.unknown

_1130230220.unknown

_1130230462.unknown

_1130238893.unknown

_1130239275.unknown

_1130239716.unknown

_1130239229.unknown

_1130230565.unknown

_1130230328.unknown

_1130229993.unknown

_1130230140.unknown

_1130229718.unknown

_1130229069.unknown

_1130229279.unknown

_1130228864.unknown

_1130227866.unknown

_1130228054.unknown

_1130228741.unknown

_1130227982.unknown

_1130227691.unknown

_1130227792.unknown

_1130227660.unknown

_1130226995.unknown

_1130227260.unknown

_1130227362.unknown

_1130227028.unknown

_1130226770.unknown

_1130226937.unknown

_1130226668.unknown

_1130217980.unknown

_1130226095.unknown

_1130226158.unknown

_1130226311.unknown

_1130226130.unknown

_1130218784.unknown

_1130219010.unknown

_1130218256.unknown

_1130217277.unknown

_1130217788.unknown

_1130217858.unknown

_1130217332.unknown

_1130216995.unknown

_1130217106.unknown

_1130216943.unknown

_1130175799.unknown

_1130183710.unknown

_1130215724.unknown

_1130216008.unknown

_1130216151.unknown

_1130215809.unknown

_1130184891.unknown

_1130184986.unknown

_1130184757.unknown

_1130183214.unknown

_1130183543.unknown

_1130183571.unknown

_1130183234.unknown

_1130183177.unknown

_1130183193.unknown

_1130183044.unknown

_1130153067.unknown

_1130175324.unknown

_1130175496.unknown

_1130175557.unknown

_1130175362.unknown

_1130153142.unknown

_1130153198.unknown

_1130153119.unknown

_1130146703.unknown

_1130149281.unknown

_1130149349.unknown

_1130146892.unknown

_1130146134.unknown

_1130146460.unknown

_1130145993.unknown

